= AH O
N = 0 &8 AF S & Al A
01MEE =4 2 3] LB A, JIEISESH BEMNSS ~ BHNSS
EA BHMNSS
M. olSUSRst4E 22l
CHe: OISO 2stdE 22 (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
HMNSS 5,759,101 5,765,162 6,061
= 36,400 12,600 23,800
2 50,000 50,000 0
< 197,610 90,710 106,900
Al 5,475,091 5,611,852 N 136,761
OIECI2235HME 22 844,386 859,116 A 14,730
OIECI2 234 2el 844,386 859,116 A 14,730
OIE0I2 23dH 29 815,586 830,316 A 14,730
401 Al&HI L2004 20,270 35,000 A 14,730
01 Al&H| 20,270 35,000 A14,730
(@F=3=R=F P suFSPy Z3H 5,270,000 5,270 20,000 A14,730
NE=SX XA Hals 3,396,400 3,522,636 N126,236
ZHHSI D0 DAL BX 2,595,053 2,626,108 A31,055
SOI=ES s 2,535,053 2,626,108 A91,055
201 Lt AH| 700 2,100 21,400
01 AFE222|H] 700 2,100 A1,400
QuSSIINLAELEARS A2
2 70,0002 %10 x13] 700 2,100 A 1,400
308 NAXHMSOIH 2,531,853 2,621,508 89,655
06 NI UstEx=2 2,531,853 2,621,508 A89,655
OAl & X2 AL 837,700 831,700 6,000
JIEAI HEY NI 6,000,000& 6,000 0 6,000
Ouss UHESEXAZ 1,451,813 1,547,468 N95,655
-2 EXWAF XY HHE 208,345,000 208,345 304,000 N95,655
=sAEXF X 60,000 0 60,000
308 AXIHAMSOIH 60,000 0 60,000
06 WEI|IANUSEES 60,000 0 60,000
OUe4=stsHAEE SEAE N
60,000,000 60,000 0 60,000
M= PP 801,347 896,528 A95,181
stuga X 801,347 896,528 A95,181
201 et AH| 700 1,400 AT700
01 AFR22|H] 700 1,400 A700
OStDSAX MRS AR+
ZHE 70,000 *10E *13] 700 1,400 AT700
308 XX SHHSOIA 800,647 895, 128 N94,481
06 nFI|2MHUSEES 800,647 895,128 N94,481
O&lety, Adoig] SAXE(AGZAlst)
ZA 90,000,000 90,000 184,481 N94,481
HMSISHH 2= 124,580 125,580 A 1,000
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SN B SRA(SIH) - MBAY - BAS Abod p[E-Ll HlnE2
< 20,400 20,400 0
Al 104, 180 105, 180 A 1,000
MDSX 124,580 125,580 A 1,000
= 20,400 20,400 0
Al 104, 180 105, 180 A 1,000
snEXNeYE el 0 1,000 A 1,000
201 ety 0 1,000 A 1,000
01 At el 0 1,000 A 1,000
O NEXNLES 83 A4y L Igss
2 3% 0 0 1,000 A 1,000
SHBACRMY TN =l 162,807 1,031,307 131,500
= 36,400 12,600 23,800
= 50,000 50,000 0
= 177,210 70,310 106,900
Al 899, 197 898,397 800
MO HEANHIA M2 244,000 165,000 79,000
= 50,000 50,000 0
= 103,700 31,000 72,700
Al 90,300 84,000 6,300
TTEAB HEPRY 210,000 140,000 70,000
= 50,000 50,000 0
= 76,000 6,000 70,000
Al 84,000 84,000 0
405 HaHE S| 210,000 140,000 70,000
= 50,000 50,000 0
= 76,000 6,000 70,000
Al 84,000 84,000 0
02 SN 210,000 140,000 70,000
OZZEA 2% 160,000,000 160,000 140,000 20,000
= 50,000 50,000 0
= 26,000 6,000 20,000
Al 84,000 84,000 0
O+H=TE 28t BBZAZ NETY
50,000,000 50,000 0 50,000
= 50,000 0 50,000
SHEHTEAY 34,000 25,000 9,000
= 27,700 25,000 2,700
Al 6,300 0 6,300
201 Lere gl 10,000 5,000 5,000
3 3,700 5,000 A 1,300
Al 6,300 0 6,300
03 A2 10,000 5,000 5,000
OSMMEs Z20z 2% ZF 1,000,008 1,000 5,000 £4,000
= 1,000 5,000 4,000
Oelest 2 S 4,200,008 4,200 0 4,200
= 1,260 0 1,260
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SRl FAO MBAMHIA HZB (&te: @
2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
Al 2,940 0 2,940
O=22AME ZA 3,000,000 3,000 0 3,000
[= 900 0 900
Al 2,100 0 2,100
OMX 2H3) Z& 1,800,000 1,800 0 1,800
[= 540 0 540
Al 1,260 0 1,260
405 KHAHE SH 18,000 14,000 4,000
[ 18,000 14,000 4,000
01 MAMLSEFS 18,000 14,000 4,000
OE M2 NIt ZA 4,000,000 4,000 0 4,000
[~ 4,000 0 4,000
CHZAIE == 918,807 866,307 52,500
= 36,400 12,600 23,800
< 73,510 39,310 34,200
Al 808,897 814,397 25,500
ANEZA2 S22 434,873 404,873 30,000
[ 30,000 0 30,000
Al 404,873 404,873 0
401 Al&HILLY] 205,000 175,000 30,000
[= 30,000 0 30,000
Al 175,000 175,000 0
01 Al&H] 204,000 174,000 30,000
O Z=6iTlsH &I ABAIE 232R (LR
) 30,000, 000 30,000 0 30,000
[ 30,000 0 30,000
HEC N2 S22 287,727 265,227 22,500
= 23,800 0 23,800
[ 4,200 0 4,200
Al 259,727 265,227 25,500
206 K24l 5,500 11,000 25,500
01 M24l 5,500 11,000 25,500
OEMZHE ABE(Z2H0IZQ)
ZA 3,000,000 3,000 5,500 22,500
OZAHUE3 A ctole I
23 2,500,000 2,500 5,500 A3,000
401 Al&HI LU 53,000 25,000 28,000
= 23,800 0 23,800
[~ 4,200 0 4,200
Al 25,000 25,000 0
01 Al&H] 53,000 25,000 28,000
OXHET M2 XIGHER A=Z A 20,000,000 20,000 0 20,000
= 17,000 0 17,000
[= 3,000 0 3,000
OXBEMZ XstRSAE MDA
8,000,000& 8,000 0 8,000
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Cel: THRAIE E =B
SN BE - ER(S) - NRAY - B2 Abod
= 6,600
= 1,200
Xt &HE St 59,900
R LS EH S| 59,900
OHIZE A4 0
ozE= 1,600,000 *2CH 3,200
HRES(HMDSH) 4,405
PENE(ZYDSS 4,405
2CHHES(BYDSD) 4,405 0
802 BHEt2IE 4,405 0
02 Al- CHIEZS082 4,405 0
OBMDE ®20I2 oAyl 3,712 0
OXQl 2D A 430 0
ODIZ 8ots Yoina 29 263 0




